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SECTION_A

1. Answer any ftve of the followmg quesg;)gi :
(@ What is scaler chain ? .
o What is planning ?. ,
). ¢t is a project structure organisation 9
© :,I::t are values ?
(d)) What is conflict ?
2:) What is perceptlon ?




* SECTION — |
2. Answer. any four of the following questions :
' 5x4=20

(a) Differentiate between centrallsatlon . and
decentrallsatnon

(b) Under Japanese Style of Management,
discuss the two statements, ‘Customer is
king’ and staﬁ‘ come first’.

(c) Discuss the procws / steps/sequences fol-
lowed in delegation of authonty

@ “Controlling and planning are twins”. Explain
' the statemient with examples.

(e) Explain Blg-Flve Personality model.

() What are the motivational factors under the
Herzberg’s Two. Factor Theory of Motiva-
tion? How does the absence of these
motivational factors impact the performance
of employees? ° ©243=5

SECTION-C =~
3. Answer any four from the following: 7x4=28

(2) Explain the features of Japanese Organisations.

(b) Discuss any seven techniques of forecasting.
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(c) How does effective sound control help on an
organisational performance ?

(d) What are intellectual abilities ? What are the
various dimensions to test intellectual abili-
ties of a potential candidate for recruitment ?

(¢) Discuss the causes of fajlure of pianning.
SECTION - D
(Compulsory question)
Case Study :

Some of the most admu-ed business leaders
argue that the only Way to get the most out of
people is to stretch them. Both business anecdotes

" and research evidence seem to back this, view.

“If you do kinow how to get there, its not a stretch

. target,” former GE CEO Jack ‘We_lch has said,

“We. have found that by reaching for what
appears to be impossible, we often actually do
the impossible; and even when we don’t quite
make it, we inevitably wind up doing much better
than we would have done”,
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SECTION - A

1. Answer any five of the following qu&stibns:
A - 2x5=10

(2) What is division of labour ?
(b) What is company mission 9
(c) What is staffing ?

(d) What is-line organisation 9

() 'What is motivation 9

(D What i Organisational conflict 9

SECTION -B

2. Answer any ﬁve of the following questions :

4><5=20

(a) Explain the anlples of scientific manage-
ment.

(b) Explain any four characteristics of Japanese
Style of Management.

(©) Differentiate between functional orgamsatxon
‘and prOjeCt organisation,

(@ What is attitude ? Dlscuss its ;components.

1+3=4

© Explain any two Styles of leadership.

(t) Explain tW0 types of stressors with example.

SECTION - C

Answer any five of the following questions :
8x5=40

(a) Discuss any eight principles of management.

(b) Explain the requisites of an effective decision
making.

ousgyz sEM-OMBALL (D) [Turn over



() What is authonty? What are its typ&s‘?
2+6=8
d DlSC“SS Maslow’s theory of needs with the
help of a diagram.

(e) Suggest l'emednes or ways to overcome .
. Tesistance to management change.

(f) Discuss the different methods of forecasting.
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